
Listening Comprehension Test

Question Sheet

放送による指示があるまで中をあけてはいけません。 
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Part 1

Question 1　　解答番号は １
According to the passage, which is NOT mentioned as a reason for the declining wildlife by 

The World Wildlife Fund （The WWF）?

①　overfishing

②　poaching

③　losing their home

④　losing energy

Question 2　　解答番号は ２
According to the passage, what does the professor at Duke University mention?

①　More governments should make laws to protect wildlife, especially in Western Europe.

②　People should think seriously about their way of living for a sustainable future.

③　�The WWF report is not accurate enough because it focuses mainly on one part of the world.

④　�The amount of wildlife is not disappearing in Western Europe as rapidly as in other 

areas in the world.

Part 2

Question 1　　解答番号は ３
According to the passage, how large are some of the largest icebergs?

 

①　One-eighth of Antarctica

②　As big as the largest island in the Mediterranean Sea

③　No more than 6.5 feet

④　One-eighth of the Mediterranean Sea
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Question 2　　解答番号は ４
According to the passage, what is Iceberg Alley?

①　An area of the North Atlantic dangerous for ship transport

②　An area where many pirates used to go to find treasure

③　An area with a lot of icebergs north of Newfoundland

④　An area even the International Ice Patrol cannot enter

Part 3

Question 1　　解答番号は ５
According to the passage, when is Pi Approximation Day?

 

①　March 14

②　March 22

③　July 14

④　July 22

Question 2　　解答番号は ６
According to the passage, which statement is correct?

①　U.S. Congress voted to officially round Pi to the nearest second decimal place.

②　U.S. Congress voted to officially make both Pi day and Pi Approximation day official.

③　There are some places in the world where people write March 14 as 14/3.

④　David Blatner does not like the fact that Pi shows up throughout popular culture.


